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Driections :-

i.

ii.

Candidates are required to give your answer in own words and sentences.
All questions contain equal marks. Answer any five out of ten questions.

fader —
i. qRIefe & g fhar Srr 8 f6 9 gedl &1 SR uH W&l U9 ardil | < |
ii. N Ul ® A RER €1 T9 Tl H 9 Bl o oAl b1 9wk < )
[16]
1. Why is educated unemployed, a peculiar problem of India?
Riférd RIS Rd & fog v fae o af 8 2
[16]

In which field do you think India can build the maximum employment opportunity?
MY & AR | 9RT 59 &3 H AR & Fdifdd JaHR GioTd R Fdhdl © 7

[16]
What has our government done to provide food security to the poor? Discuss any two
schemes launched by the government.

TRl Bl @re GRET o & [y ARBR -1 RIT {HAT ? AR BT AR A Yo DI Ty
=1 a1 Arermell @1 ==l B |

[16]
Explain how public sector contributes to the economic development of a nation.

IRAT PIU fb T 2 & 3Mffep faprT & Frdoifd &5dh HA IS BIdl § ?

[16]
How does money solve the problem of double coincidence of wants? Explain with an
example of your own.
H&T JAIIHATA & IeX AN B FART BI [hE TRE FoAsikll & 2 (U AR A
SQTeNU] ghX FHHAM |

[16]

Why do developed countries want developing countries to liberalise their trade and
investment? What do you think should the developing countries demand in return?

fApRid <o, fAeraeiia <o 9 S99 AMUR R 99 &1 ISRIARI T a18d & ?
RIT MY AT & [ fapraeiial <2n & ff 9 § U |7 &R A1y ?




10.

[16]
Why are rules and regulations required in the market place? Illustrate with a few
examples.
R # ool den fafeel B srawedr w®& usdl 8 ? §Y SEERT & gRI
A |

[16]
Critically examine the progress of consumer movement in India.
YRA H SUNIERIT 3faTeT D1 W & FHET DN |

[16]
How would flexibility in labour laws help companies?
3T BT H AAIATdd HUFRT BT D Aaa BT |

[16]

Write short notes in any two:

(i) Demand and Supply (F7T 3R gfh)

(i) Modern form of money (4T D 31@%125 W)
(iii)  National development (RTETI fdehT™A)

(iv)  Indian Economy GG EER)

-- The End --



